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QUESTION 1

Which two steps should be performed before installing HyperFlex? (Choose two.)
A. Determine and download recommended hypervisor

B. Determine and download recommended VCenter required

C. Download service profile templates

D. Determine and download recommended UCS firmware required.

E. Determine and download virtual machine OS\\' required.

Correct Answer: AD

QUESTION 2

How many vCPUs does the HXDP controller VM require?
A. 8

B.6

C.2

D.4

Correct Answer: A

QUESTION 3

What is required to cluster a pair of Fabric Interconnects?
A. uplink connections to the enterprise network

B. HXDP 3.5.2 or better

C. connection between the Fl pair using ports L1 and L2
D. UCS Manager 2.1 or better

Correct Answer: C

QUESTION 4
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Which statement about Standalone Cisco UCS Server Deployments is valid?

A. They require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEXx) associated with
the deployment

B. They do not require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEX)
associated with the deployment

C. They do not require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEXx) associated
with the deployment

D. They require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) associated with
the deployment

Correct Answer: C

QUESTION 5

When cabling a given HX node to the Fabric Interconnect which three actions are required? (Choose three.)
A. Connect the node to different port numbers on each of the two Fabric Interconnects.

B. Connect port 1 on the VIC to Fabric Interconnect A.

C. Connect server port L1 to Fabric Interconnect port L1.

D. Connect the node to the same port number on each of the two Fabric Interconnects.

E. Connect server port L2 to Fabric Interconnect port L2

F. Connect port 2 on the VIC to Interconnect B.

Correct Answer:. BDF
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